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QUESTION 1

Examine the following partial code: 

Which statement is correct about the unnamed block of code at the end of a package body? 

A. It generates an error because all the blocks of code in a package body must be named. 

B. It generates an error because V_TAXRATE is a public variable that is already initialized in the package specification. 

C. It acts as a package initialization block that executes once, when the package is first invoked within the user session. 

D. It acts as a package initialization block that executes each time a package subprogram is invoked within the user
session and refreshes the initialized variable\\'s value. 

Correct Answer: C 

 

QUESTION 2

View the Exhibit and examine the structure of the CUSTOMER table. 
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You need to create a trigger to ensure that customers in category "A" and "B" have a credit limit of more than 8000. 

Examine the following trigger. 

Which statement is correct about the outcome of this trigger? 

A. It compiles successfully and fires whenever the specified condition is met. 

B. It compiles successfully but does not fire even when the condition is met. 

C. It gives an error on compilation because the NEW qualifier is prefixed with a colon. 

D. It gives an error on compilation because the NEW qualifier can be used only in row-level triggers. 

Correct Answer: D 

 

QUESTION 3

View Exhibit 1 and examine the structure of the EMP and DEPT tables. 
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View Exhibit 2 and examine the trigger code that is defined on the DEPT table to enforce the UPDATE and DELETE
RESTRICT referential actions on the primary key of the DEPT table. 
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What is the outcome on compilation? 

A. It compiles and executes successfully. 

B. It gives an error on compilation because it is not a row-level trigger. 

C. It gives an error on compilation because the EXCEPTION section is used in the trigger. 

D. It compiles successfully but gives an error on execution because it is not a row-level trigger. 

Correct Answer: B 

 

QUESTION 4

Which two statements are true about the INSTEAD OF triggers? (Choose two.) 

A. DELETE operations cannot be performed using the INSTEAD OF triggers. 

B. The INSTEAD OF triggers must be created to add or modify data through any view. 

C. The INSTEAD OF triggers can be written only for views, and the BEFORE and AFTER timing options are not valid. 

D. The CHECK option for views is not enforced when insertions or updates to the view are performed by using the
INSTEAD OF triggers. 
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Correct Answer: CD 

 

QUESTION 5

You execute the following block of code: Which statement is true about the outcome? 

A. Both output statements show different values. 

B. Both output statements show exactly the same values. 

C. It gives an error because the nested blocks are not labeled. 

D. It gives an error because the V_CUSTOMER variable cannot have different types in the nested blocks. 

Correct Answer: A 
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